Chapter 9 Problem 18 f

Given
Mskater = 60 kg
Msnow = 12 kg

Tanow = {53.01 + 14.05} m/s

Solution

Find the velocity of the skater.

Since the skater is motionless before throwing the snowball, the initial momentum is zero. After throwing
the snowball, the momentum is conserved and is, therefore, also zero.

Povefore = 0= DPskater + Psnow

— _ —
Pskater = —Psnow

Using the definition of momentum

MskaterUskater = ~MsnowVUsnow

Manowlsnow (12 kg){53.00 + 14.05} m/s

Mskater B (60 kg)
Tskater = {—10.60 — 2.807} m/s

Uskater = —
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